
1) Increase 50 by 24%

Answer: ____________

2) 92 - 2 + 3

Answer: ____________

3) Find the percentage change from 10 to 
20

Answer: ____________

4) An amount was increased by 1% to 
$288.00. Find the original amount.

Answer: ____________

5)

Name the type of angle.

Answer: ____________

6) 14 x (-20)

Answer: ____________

7) Round 14.499689 to 5 decimal places.

Answer: ____________

8) 192 - 18 + 9

Answer: ____________

9) 4/17 of 85

Answer: ____________

10) (2 x 76) + (9 x 52)

Answer: ____________

11) Find perimeter of 
triangle
a = 44 cm , b = 89 
cm

Answer: ____________

12) (2 x 1-9) - (8 x 4-1)

Answer: ____________

13) Convert the following mixed number 
13/7 into an improper fraction.

Answer: ____________

14) 31% of 31

Answer: ____________

15) 6 x (-23)

Answer: ____________
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16) 1/121 of 242

Answer: ____________

17) 10:13 am To 04:27 pm

Answer: ____________

18) b

a o c
Measure angle boa 

Answer: ____________

19) Find the mean of the following set of data:

7, 0.8, 10

Answer: ____________

20) Find perimeter of 
triangle
h = 31 , a = 68 in,
b = 72 in, c = 87in

Answer: ____________

Total: ___ / 20
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Answers:

1) 62 2) 82 3) 100% 4) $285.15 5) Acute 6) 7) 14.49969

8) 352 9) 20 10) 235523 11) 222cm 12) 0 13) 10/7 14) 9.61

15) 16) 2 17) 06 Hours 14 Mins 18) 127 19) 5.93 20) 227in
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